
HOW MUCH AIR CONDITIONING DOES YOUR HOME NEED?

Air conditioners are sized by tonnage. One ton of air 
conditioning is equal to 12,000 Btu’s (British thermal 
units) of ability to remove heat. On the factory data 
label on air conditioners, the model number lets 
you know what size air conditioner you have. As 
an example, the model number will be something 
like this, XXXXX48XXXX. In this example the 48 
represents the Btu capacity. This means that the air 
conditioner is a four-ton unit, and 48 means 48,000 
Btu’s (48 divided by 12 equals 4, or four tons).

Home (residential) air conditioning units only go up to 
five tons, in half-ton increments beginning at 1 (e.g. 1, 
1.5, 2, 2.5, 3, 3.5, 4, 5 tons), but there is no 4.5-ton unit.

It takes one ton of air conditioning for every 600 
square feet of interior space, depending on your 
climate zone. Based on the information above, 
determine the size of air conditioner(s) that are needed 
for each of the following. Include tonnage and Btu.

1. 1,200-square-foot house

2. 5,000-square-foot house

3. 1,022-square-foot condominium

4. A/C Model Number: AB2-24-FT-075

5. A/C Model Number: H2CA420A58D

It is important to properly size air conditioning systems. Air conditioners cool warm air, then absorb excess moisture.  
The level of moisture in the air (humidity) determines how comfortable you feel. An undersized air conditioner is 
inefficient because it cycles on and off too often; this irregular cycling is known as rapid cycling. Rapid cycling wastes 
energy, money, and is ineffective at removing humidity. Let’s learn how to determine the correct size for an air conditioner.
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